Eﬁ:&
i
R
\]
an

TRk 3 1 FEFA TRy ShEEREERNISF TR

TRk 3 TAREZRA T ORI ERFEFIREOTRIZ, KICED D L ZAICLD,
54

1R WA TEROBEIZ, MAKNENEN 2,874,875 THEEDD,

2 WMARHTHEROZFEOX LK ONEFEK ST 0T, TH1REAKHTEIICE D,
(—WEfEA4)

B2k MWHBEBRE (MM2 2FEHE6 75) H2 355038 2HDOBEIC X 25—
ANEOEANORE&EHEIZ, 400,000 FHEED D,

T3 142 H 20 HEH

—EREATRE O OOF O O OF

TR 3] i 0 < S A R
345



fi
>R
SIS
-
SIS
EE
‘_‘N
S

Z

K H & i

TH
1 1% W1 s R ORIkt 1,387, 112
1 1% 391 e ln 7 [ A Okt 1,387,112
2 fli HLBE S OV 112
1 FHokt 112
3 M4 1,478, 290
1 — iR itii A& 1, 478, 290
4 foRi A 100
1 A4 100
5 FHILA 9,261
1 TR+ 1
2 HEN 9, 260
753 A % 2, 874, 875

346




K H & %

TH
1 st 38, 485
| s Bt 32, 494
2 T 5,991
2 1 W] iEn im0 LR SO G 2,834, 268
1 % 390 e i P A L Sl 15 £+ 48 2, 834, 268
3 NEE 39
1 e 32
4 W S H A 2, 080
1B 4 M ONE IR 4 2, 080
5 Tty 10
1 T 10
753 i a 7 2, 874, 875

347







—
;‘\
eI
S
jage}

A T R E R

CAN)
K AEETHME | aFETEE | it
TH T T
1 1% ] i R R o 1,387,112 1, 463, 981 A 76, 869
2 B OV} 112 112 0
3 A4 1, 478, 290 1,510, 360 A 32,070
4 il 100 100 0
AN 9, 261 10, 288 A 1,027
ES ) A 0 2,949 A 2,949
59 A = 2, 874, 875 2,987, 790 A 112,915

349




= AEETHREA | iEETHEE | i

Fm ERE] M

L MR 38, 485 36, 861 1, 624
2 TR A E i R B0 A 4 2,834, 268 2,948, 774 A 114, 506
3 NEE 32 65 A 33
4 R4 2, 080 2, 080 0
5 T E 10 10 0
I3 H = 2, 874, 875 2,987, 790 A 112,915

350




F % E T 5 W 0O W B R
i i i R PO
B x W & Ik = o @
EE 1 1 TH
0 0 7,402 31, 083
0 0 1,387,112 1,447, 156
0 0 1 31
0 0 2,070 10
0 0 0 10
0 0 1, 396, 585 1,478, 290

351



2 % A

(F) 1 ##HEEE EEREE (TH) 1 #%HmEEE ERERRE
El KO E Bl FE O ke Ea%
ES T M
| 1% i R AR st 1,387, 112 1,463, 981 A 76, 869
F 1,387, 112 1, 463, 981 A 76, 869
GR) 2 FEAEROFEER (TH) 1 F
1 B FHcek 112 112 0
3 112 112 0
) 3 A% (IH) 1 —x=iHEAE
1 FHEAE 102, 998 106, 676 A 3,678
2 PRI FAR 22 TE A N4 254, 469 266, 099 A 11,630
3 BB BN S 1, 120, 823 1,137,585 A 16, 762
3 1, 478, 290 1, 510, 360 A 32,070
) 4 HwEe (H) 1 #§is
1 ek 4 100 100 0
3 100 100 0

352




i -
X 5 > o "
M M
1 BAE 75 5 B L AR Pk} 827,362 | BUAEEE /3 KRR AR 827, 362
2 BURFE o3 3@ U PR R 551, 575 | BUAREE /5 (O e 551, 575
3 AR B oy i S O R B 8, 175 | &4 oy i U AR Bt 8,175
1 B FHk 112 | BeFHort 112
1 B EAE 102,998 | HEEHEANE 102, 998
| PRI ZE EAR A4 254, 469 | (RERIEAEZEEM A4 254, 469
I SR ¢ YN 1,120, 823 | FEEHA(T E AL 1, 120, 823
100 | ARl 4 100

1 HiTARRE e d

353

1

»

el R S A I R



()

A E R = Lo
B B Eo
1 TAGH] 1 1 1 0
1 1 0
(&) (TA) 2 HEA

1 HEA 9, 260 10, 287 A 1,027
9, 260 10, 287 A 1,027

() [E] B 7 H 4> (17) [E] 1 Bh 4
FHEMh4 0 2,949 A 2,949
0 2,949 A 2,949




X % 5 & ; "
1 T
| AR T 1| maesr 1
1 HEA 9,260 | ZEIMEHIEIEEREEATOEME AR EEE 7,286
=R R TR B A R A R 1,970
TEE PR R Bk A A I 4 3
HEN 1

I R S

355




) 1 BB H
A F E o M OE N R

A A OFEOE AT OFOE | Ok & it E 36} IR BB

FEWRHE | 5 E|% o flt -

FH FH FH FH FH TFH FH

1 — &g 32, 494 30, 846 1,648 0 0 7,290 25, 204

REIUA

B 32,494 30, 846 1,648 0 0 7,290 25, 204

() 1 BBEE
1 BRER O 5, 991 6,015 A 24 0 0 112 5, 879
fERAE RO
Tt
5 5,991 6,015 A 24 0 0 112 5,879

356



i
#
X 57 & %A
T ik
2 fakt 12,649 | —RXEEAE 24, 300
— ARG 24, 300
3 B EFYE 7,422 | —REBRELER 8,194
HAIR S AT NG PR 6, 083
4 HHE 4, 240 — RS E Y 2,111
7T &4 1,159
9 RE 25
11 FEHE 585
12 %%#H 351
13 FFekt 3,971
14 AR LR OE 2,092
&5k
11 FFH%E 267 | IREBRMINELR 5,991
HR AR M T 7 2 5,991
12 %% 2,174
13 ZFekt 3, 550

%I i PR PR SRR E

357



(F) 2 BHIE B ISIE0E S 4 (TH) 1 BHAEknE BRI IaE A 4
K £ E o M JE N R
E| K OF | A FOE te L1 : E %) TR .
ERZHE | 5 E|F o b e
M M M T T T4 T
1 % EEn 2, 834, 268 2,048,774 A 114,506 0 0| 1,387,112 1,447,156
[ R i da e %I A
BT 4 = LR
g 2,834, 268 2,948,774 A 114,506 0 0| 1,387,112 1,447,156
(FK) 3 NERE (TH) 1 NMEE
1 Fil+ 32 65 A 33 0 0 1 31
EAVUN
B 32 65 A 33 0 0 1 31
) 4 #EXHe () 1 ERLRORMNES
1 PRBERE AT 1,920 1,920 0 0 0 1,920 0
& HAVON
2 Bkt 10 10 0 0 0 0 10
&
3EAINE 4 50 50 0 0 0 50 0
EAVON
4 {EE4 100 100 0 0 0 100 0
ka4
7 2, 080 2, 080 0 0 0 2,070 10
(&) b5 THE () 1 e
1 TE 10 10 0 0 0 0 10

358




B
X 57 & %A 7
T ik
19 B84, #iBh 2,834, 268 | HEIEEE ERILIRE W& 2,834, 268
L OZR A4 — R EEHAH 4 13, 409
KR EHnAT 4 2, 820, 859
23 fEEAe, AT 32| —EHMEALRITF 32
K OVES 8 — M N ST 32
23 R4, R+ 1,920 | {RBRELEN& 1, 920
K OVE S FRBRERE {42 1,920
23 fEESE, FlT 10| BekhgfE 10
K OVES 8 BYERhR 4 10
23 R4, R+ 50 | BINES 50
K OVES AT INE 4 50
23 fEEAe, FlTF 100 | HESE 100
K OvES 8 R4 100

359

1) b R S R D R




(#) 5 TiHE (H) 1 Tiw#E
K FE E o B OFE KN R
H K OEOE | AT & E | Kk g i E i) i .
EEZHe | K% o fh -
TH TH TH TH TH TH TH
) 10 10 0 0 0 0 10

360




B

TH

361

1

X/

1) b R S R D R




w5 #H B M &
— % %
(D
w05 %
ES 5y B | & M BB | BETY B LHEH| A& F 5 %
A (F-p) (F-p) (F-p) (F-p) (F) (F)
)
A F K 3 12,649 | 7422 20,071 | 4,229 24,300
- N ®)
wooF K 2 10,392 | 5870 | 16,262 | 3,005 | 19,267
B )
= B 1 2.257 | 1,552 3809 | 1,224| 5,033
N e AN - E AT A
N BB F Y
X 7
(F-1) () () ()
* 4 s 78 324 697 1,000
i 4 s 120 324 437 700
WoE F oM I i A 42 0 260 300
» W3
Wk FY |8 F Y | ik F Y
X 4
(F) (F) (F-P)
* 4 g 2,682 1,877 764
i 4 g 2,187 1,471 631
I i 495 406 133

O, S EE TR ER RSB E 22

362




(2) KB K Ok B X4 O HE IR O B

X 4y | ¥ B HE 983 B BN R i B i £
(FFM) (FFM)
i Bt 2,257 |#6 5 E I 29 a5 UUE ORI
PES 88 98 45 BT E R 0.26%
AR [
E5UEFEMERS H30.4.1
A 48
®om 4y
o i ® 2,180 Tk B 3 oo Bk
o 4y [ BTN ]
ERA =L
R E 5 A
Al A 4 N
4 54 N
M
e FY 1,552 |l B IEIC 57 | EhHhFY 57 | Bhfh T4 AR RUE
PES B8 8 4y
M
Z D » 1,495 | $haFY A 42
HOw WEFY 260
REMA 8075 T2 300
HRFY 495
BT 349
Hds T 133

363




(3) Fa kS OV B =24 DRI
7 BB1ANEZ0EGE

X 5y - i 17 B Tk
¥ %ok o8 A E%:S‘q) 974,933
FRL314E4HA 1 H B % 5 5 & 13990
(m) ’
i) £ 7
¥ F W 35 4
(%) )
¥ E e M A ?E) 300,750
P304 4 A 1 H B % 5 5 & -
(m) ’
B iés 7
¥ F W 36.1
(%) )
A FUEAE
D il B
ES oy - AT B W
@) — B 1T B B (M)
[T S-S 148,600 148,600
PN - 180,700 180,700
VR GIL I
- i 17 B ik
X LN - - "
@ ik A # 1 154
(N) (%)
4 itk
Tk 3L4E4 A 1R 5 ! 33.3
2 fk 2 66.7
8 fE 1% @) (100.0)
21 (2) (100.0)
! 3 100.0
4 fk 1 50.0
TR 30 4E4 1A 3
2 fk 1 50.0
8 1E 1% @) (100.0)
21 ) (100.0)
3 2 100.0
O OWNIE A EETREHERRSEREL R T
(R DEEHERD 7RI N 2)
X 5 4 W 3 W
- ke 17 B ik F O o B B * fE W

364




f £ W A B M
% 5 =
7 — T B W
B B % A (W) 3 3
* HAIIR DR E S ®B) (N) 3 3
1 5#a ON)
2 Fha (N)
.
FREEBINGR] 3 54 (N)
4 Fha ON) 3 3
= 5 el b ON)
e EB),(A) (%) 100.0 100.0
W B & A (W) 2 2
- HAIIRDRR E S ®B) (N) 2 2
1 B 8
2 s (N)
F
FREEBINGR] 3 548 ON)
4 FHE (N) 2 2
B 5 Fra bl b ON)
e EB),(A) (%) 100.0 100.0
ZF MR FY - - B FY
*x B o Bl X K/ =
o e =y | B B BB
oy Xk R G
IX ya % ¥ Yo - ﬂﬂ: "jé,;
7 65 (45 128 (4 4) W D% i
A5 | & 5 & &
N (1.175) (1.175) (2.35)
AEK 2.225 2.295 4.45 il
o n (1.075) (1.225) (2.30)
LN 2.125 2.275 4.40 f
n (1.175) (1.175) (2.35)
CRL 2.995 2.995 4.45 il
C YWNIE. BEABREAERT
g7 Hiek Y
O ox & o g & 4 %
S (%) 6.0
Yomoa & W OB H () ?
EOFEE YIS TR (%) 6.0
O PNE A EESTHER AR ESERE LR
X ZOMDFY
X 4y = o il Lo B[ = R D N w
B i3 ] [ C
N W . HEIRDEEFY
fEEmFH D (kiEaR 2 IRY.. A 81,000/ %48
eGi} ) ] [ r

365







